#3266 TORQUE-CURVE MPFI SPACER
2000-02 Tundra 4.7L

2001-02 Sequoia 4.7L

1998-02 Land Cruiser & LX470 4.7L

INSTALLATION INSTRUCTIONS
Important! Read all instructions before you begin installation.

THIS KIT CONTAINS TOOL LIST
1 - Hamburger's Performance Spacer 2 - 8mm X 85mm Bolts 13mm Socket
3 - O-Rings 2 - Bmm X 70mm Bolts 3mm Hex Key
1 - 6mm x 20mm Flat Head Screw 2 - 516" Nyvlon Lock MNuts | Standard Screwdriver
1 - 6mm x 1" Spacer Plate 2 - 516" Lockwashers
1 - Extension Plate 2 - 5/16" Bolts
1. DISCONNECT NEGATIVE (-) BATTERY CABLE.
2. Remove the air intake hose assembly.
3. Remove the (2) nuts from throttle linkage (keep nuts, reused in step 8).
4. Remove the throttle body cover bracket and install 6mm x 17 Spacer Plate using
(1) Bmm x 20mm Flat Head Screw (this will relocate the cover bracket 1" forward).
3. Remaove the throttle body.
6. Install the (3) O-Rings on Hamburger's Spacer.

7. Install the Hamburger's Spacer with throtile body using (2) 8mm x 95mm bolis &
(2) Bmm x 70mm bolts. MNote: The O-ing side of the spacer faces the throttle body.

8. Reinstall throttle linkage extension plate reusing 2 factory nuts removed during step 3.

9. Install the throttle linkage onto the extension plate using (2) 5/16" bolts,
(2) 5/16" lockwashers and (2) 5/16" nylon lock nuts.

10. Inspect and Test throttle linkage for full open & closed positions before driving.
11. Reinstall the air intake hose assembly.
12. Reconnect negative battery cable.

12438 Putnam Street ® Whittier, CA 90602 tel (562) 921-0404 » fax (562) 921-7515
website: www.hamburgersperformance.com ® email: techsupport@tdperformance.com




